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$57.10.14 —EHWH FHKAE D OO FE —Eif INE~/N6 65 65 130 130
H19. 4.1 —EHiREHED OLEH —EH /N3 ~/N6 118 112 230 230
(Sﬂfogf‘é‘;l) WEWmAED oL E W INE~ING 49 53 102 102
$52.1.20 @A /NFERAE LD OAFEH EJEEiaiT] B~ 6 7 4 11 11
$50.3.13 | RLUiiSHH L0 0D F ENITN: N1 ~/N6 15 15 30 30
H25. 4.1 W /NFR ALY DD E N N1~/ B 123 100 223 223
H25.4.9 =V HUNER R E D DD E AN NA~/6 16 8 24 24
H25. 4. 1 NS sl i N AR A S | NGl F1~F3 21 25 46 46
B | H25.4.1 P2 AEY 0L FEH /N F2~f3 5 7 12 12
Bl H6.41 | NENFERDE D ODEF N NCENYING 16 15 31 31
He.6.20 | & K A K v o b FEH FRiR INESYING 7 11 18 18
H22.8.7 BREWBEZLED ODE BRI N2~ 3 4 2 10 9 14 11 25
$52.7.18 | P HLAE B HT & &0 o A TEAT /N4 ~/N6 22 11 33 33
H18. 4.1 HAM AR E DD O b FE A /N4 ~/N6 43 24 67 67
H18. 4.1 ks dBAFHEY ODE s R INE~/NG 27 23 50 50
$53.9.30 | B L HT A X Y o b gﬁf}#g& N4 ~/h6 28 19 47 47
H4.5. 1 K AW & E0HobE ?jﬁ? NEYING 100 103 203 203
NE 17 640 28] 573 41| 1,213 69| 1,282
# | H4.6.5 osF AL D b F BT /N6 42 36 78 78
G N 1 42 0 36 0 78 0 78
$53.8.23 ¥ H W A L D oD FE HHT /N4 ~/N6 38 25 63 63
$61.2.4 P HE A LD 0D E g NG 13 12 25 25
$51.9.23 | HUETEE A LD 0D ER g R RVNG 9 7 16 16
$59.4.28  HETWALE A LY oA FEH HET INE~ING 15 14 29 29
$50.4.12  RIFMA LV OLEMAE 1 KIFifi /INB~/N6 12 15 27 27
s | H2.4.28 KFH A& E 0 oOEFE 2 M KIFF INE~/6 11 5 16 16
Z| ss13.8 | MISZHALYOLERE1IH % B~/ 6 10 8 18 18
H14.4.1 MEHHREY OVERE 2 H e INE~/N6 9 9 18 18
o151 BTA KA B E Y os R SZE ha~ne 14 13 27 27
H10.10.10 ¥ i BT & & v o 4 4 H g%ﬁ INA~ING 38 31 69 69
51102 2 L LB E D Db o N3~ o7 18 45 45
NE 11 196 0 157 o 353 0 353
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$50.5.17 | [ G 1 H H A & 0 @ s 77 /INE~/N6 20 20 40 40
$51.3.22 | [ M AHH A & 0 @ FEH i [l=m) H1 37 43 80 80
$52.11.7  MFHER & &0 0L FEH R T N4~/ 6 31 22 53 53
7 | S59-1.11  [EIEH B )AL o EH iR 7 A~/ 6 17 17 34 34
= | s52.3.1 B LRidAHr LD obE PUFS N4 ~/N6 10 17 27 27
&l H3.2.25 MY BNRHKEED DD E AT Na~/N6 4 26 30 30
$53.8. 30 M HEED O FE ST N1~/ 6 21 21 21
S52.11.9 B R r E 0 o b %gﬁ? N4~/ 6 11 12 23 23
AN EE 8 93 37 135 43 228 80 308
$50.3.15 | NPT W & & b o b F E-1:Dhil INE~/N6 9 9 18 18
$52.12.22 | ¥ /N K L D o A F EH INE~/NB 16 12 28 28
$63. 1. 22 B & & v o b FE k1= IN3~/N6 112 114 226 226
$50. 10. 25 By & & b o b & f-1::hn /N5 8 6 14 14
HI.9.28 W E LY D 0L E HHTH IN3~/N6 7 11 18 18
$52.7.30 m AL D oD E i1 /N5 8 7 15 15
H23. 9. 20 ERE /NI E Y O EH BHE INE~/N6 6 5 11 11
w | HH46.18 BHH o FH LY ODEF i1y INE~/NG 97 105 202 202
mo| He8.4.1 B R/ ED obE -3:hi N1 ~/N6 29 30 59 59
MW w41 | o HE Y DD Bk L N6 43 31 74 74
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H21.4.1 I # /B o E kL INE~/N6 10 6 16 16
H21.4.1 B /s ED o b E HE L /N6 38 48 86 86
H21.4.1 RENIZE Y O E &L A ~/N6 138 118 256 256
H21.4.1 =E B LD 0L E Ry L N} 39 35 74 74
H21.4.1 EHENHREYD OLEH Hk L NG 56 55 111 111
H21.4.1 BENDZE D 0L E Bk LT INE~/N6 10 9 19 19
H21.4.1 BN LD oD E B L LTH /N6 68 46 114 114
N 17 694 0 647 0| 1,341 0l 1,341
S5.7.26 0 B OO A& F 0 oo A 4 Q_E‘%;ﬁg& B ~6 8 7 15 15
$63.6.9 b S = N SN ) NN W T i@%% N5 ~/NG 5 9 14 14
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N 4 52 0 57 0 109 0 109
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S51.8.5 bE B AEDD D E okt INE~/N6 16 9 25 25
| ssz721 | fE F A E D DD F B /N3~ 6 16 19 35 35
W H1s.1030 WA KLV o b Fragt N 28 20 48 48
N 3 60 0 48 0 108 0 108
HIL11.18 | EBHEE ALY OV EH BT INB~/N6 21 26 47 47
H3.9.13 | fHEILIM/NHE Y O E I NEYING 35 34 69 69
S53.5. 4 e Ay o b &)1l NA~/6 11 11 22 22
H3.9.13 | #Kk /N B & v o A F &)1 NEYING 27 21 48 48
f HI2.10.9  — B R H &V 0D F )1 NS 20 19 39 39
; $52.7.18  THEERTHAE M & LV oA FH AR t1~th3 55 50 105 105
S51.9.2 HEBS»EY 0bg R /NB~/NG 17 26 43 43
S60.11.14 | HIRHEHEF H» &0 oAb EH R /INB~/N6 17 11 28 28
N 8 148 55 148 50| 296 105 401
4 | H6.4.24 B OHZ HE D O L E 4 i N1~ 3 12 5 19 7 31 12 43
g N 1 12 5 19 7 31 12 43
1,937 125 1,820 141
& B 70 3,757 266 4,023
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